MATHS

BOOKS - PSEB

POLYNOMIALS

1. Which of the following expressions are polynomials in one variable

and which are not? State reasons for your answer:- 42> — 3z + 7

o Watch Video Solution

2. Which of the following expressions are polynomials in one variable

and which are not? State reasons for your answer:- y* + /2
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3. Which of the following expressions are polynomials in one variable

and which are not? State reasons for your answer:- 31/t + t,/2

o Watch Video Solution

4. Which of the following expressions are polynomials in one variable

2
and which are not? State reasons for your answer:-y + —

o Watch Video Solution

5. Which of the following expressions are polynomials in one variable

and which are not? State reasons for your answer:- z'% + 3 + ¢*°

o Watch Video Solution



https://dl.doubtnut.com/l/_TkiIR8GLJ9Sy
https://dl.doubtnut.com/l/_wmyq9GE5dgji
https://dl.doubtnut.com/l/_hElXV1oAhnEo
https://dl.doubtnut.com/l/_N0HyQz6J7PCX

6. Write the coefficients of z2 in each of the following: 2 + 2% + =

o Watch Video Solution

7. Write the coefficients of 22 in each of the following: 2 — 2 + 3

° Watch Video Solution

™
8. Write the coefficients of 22 in each of the following: Ea:Q +z

o Watch Video Solution

9. Write the coefficients of 22 in each of the following: /22 — 1

° Watch Video Solution



https://dl.doubtnut.com/l/_QpKevHVkvAXz
https://dl.doubtnut.com/l/_gjdeHsdUaIn5
https://dl.doubtnut.com/l/_fK1D6Q1aN239
https://dl.doubtnut.com/l/_t2mrZQrP7ZaM

10. Give one example each of a binomial of degree 35, and of a

monomial of degree 100.

o Watch Video Solution

1. Write the degree of each of the following polynomials:

5z° + 422 + Tz

o Watch Video Solution

12. Write the degree of each of the following polynomials: 4 — g

o Watch Video Solution

13. Write the degree of each of the following polynomials: 5t — /7

o Watch Video Solution



https://dl.doubtnut.com/l/_TUSADxZaWfuz
https://dl.doubtnut.com/l/_6kmLVU0SitG8
https://dl.doubtnut.com/l/_O60YQiKFijGY
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14. Write the degree of each of the following polynomials: 3

° Watch Video Solution

15. Classify the following as linear, quadratic and cubic polynomial :

332—|—x.

o Watch Video Solution

16. Classify the following as linear, quadratic and cubic polynomials:

T— 333

o Watch Video Solution

17. Classify the following as linear, quadratic and cubic polynomial :

y—i—y2—|—4.



https://dl.doubtnut.com/l/_LFdKfRTdgxyu
https://dl.doubtnut.com/l/_yLWIgicMVoce
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| o Watch Video Solution

18. Classify the following as linear, quadratic and cubic polynomial :

1+ x.

° Watch Video Solution

19. Classify the following as linear, quadratic and cubic polynomial : 3t.

o Watch Video Solution

20. Classify the following as linear, quadratic and cubic polynomial : 2.

o Watch Video Solution

21. Classify the following as linear, quadratic and cubic polynomial : 72*


https://dl.doubtnut.com/l/_nE4oHLmHjwAZ
https://dl.doubtnut.com/l/_e2IxKTlSiIpc
https://dl.doubtnut.com/l/_veYUGKlb4bju
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https://dl.doubtnut.com/l/_CVjmCQly0Xnq

° Watch Video Solution

22.Find the value of the polynomial 5z — 4z 4+ 3 at = = 0.

° Watch Video Solution

23. Find the value of the polynomial 5z — 42> + 3atz = — 1.

° Watch Video Solution

24.Find the value of the polynomial 5z — 4z 4+ 3at z = 2.

o Watch Video Solution

25. Find p(0),p(1) and p(2) for the following polynomial

p(y) =y —y+ 1L
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https://dl.doubtnut.com/l/_CVjmCQly0Xnq
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26. Find p(0), p(1) and p(3) for each of the following polynomials:

p(t) =2+t+ 22 — ¢

° Watch Video Solution

27. Find p(0), p(1) and p(4) for each of the following polynomials:

° Watch Video Solution

28. Find p(0), p(1) and p(5) for each of the following polynomials:

p(z) = (¢ —1)(z +1)

o Watch Video Solution



https://dl.doubtnut.com/l/_h0lvLjEKMucp
https://dl.doubtnut.com/l/_N759EAUdpR4L
https://dl.doubtnut.com/l/_TEcwT6PKddpJ
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29. Verify whether the following is zero of the polynomial, indicated

o 1
againstit:p(z) =3z + 1,z = — 3

o Watch Video Solution

30. Verify whether the following is zero of the polynomial, indicated

4
againstit: p(z) = bz — 7,z = 5

o Watch Video Solution

31. Verify whether the following is zero of the polynomial, indicated

againstit:p(z) = 2> -1,z =1, — 1L

o Watch Video Solution

32. Verify whether the following is zero of the polynomial, indicated

againstit:p(z) = (z + 1)(z — 2),z = — 1, 2.


https://dl.doubtnut.com/l/_2T9HRWuKI8Zq
https://dl.doubtnut.com/l/_8GKwajIC0sxy
https://dl.doubtnut.com/l/_k02uitxpgJQd
https://dl.doubtnut.com/l/_SWAMk73R5zZN

o Watch Video Solution

33. Verify whether the following is zero of the polynomial, indicated

against it: p(z) = 2%,z = 0.

o Watch Video Solution

34. Verify whether the following is zero of the polynomial, indicated

o m
againstit: p(z) =lx + m,z = — R

o Watch Video Solution

35. Verify whether the following is zero of the polynomial, indicated

1
against it: p(z) = 32 -1,z = — —, —

9
33

o Watch Video Solution



https://dl.doubtnut.com/l/_SWAMk73R5zZN
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36. Verify whether the following is zero of the polynomial, indicated

o 1
againstit:p(z) =2z + 1,2 = 3

o Watch Video Solution

37. Find the zero of the polynomial in the following : p(z) =« + 5 is

real number.

o Watch Video Solution

38. Find the zero of the polynomial in the following : p(z) =z — 5 is

real number.

o Watch Video Solution

39. Find the zero of the polynomial in the following : p(z) = 2z + 5is

real number.



https://dl.doubtnut.com/l/_ixbiRN2gxxST
https://dl.doubtnut.com/l/_mnVBSGtI10Ya
https://dl.doubtnut.com/l/_xygnGO5DLcmr
https://dl.doubtnut.com/l/_svvQ7j9ANEJg

| o Watch Video Solution

40. Find the zero of the polynomial in the following : p(z) = 3z is real

number.

° Watch Video Solution

41.Find the zero of the polynomial in the following : p(z) = 3z is real

number.

o Watch Video Solution

42. Find the zero of the polynomial in the following

p(z) = azx, a # 0is real number.

° Watch Video Solution



https://dl.doubtnut.com/l/_svvQ7j9ANEJg
https://dl.doubtnut.com/l/_p1BV4yKVsLJP
https://dl.doubtnut.com/l/_DslxOjZDMdqq
https://dl.doubtnut.com/l/_WsTYws1qabgU

43. Find the zero of the polynomial in the following

p(z) = cx +d, c # 0, ¢, dis real number.

° Watch Video Solution

44.0n dividing > + 3z + 3z + 1 by z + 1 we get remainder :

° Watch Video Solution

45, 0n dividing z* + 322 + 3z + 1 by x we get remainder :

° Watch Video Solution

46.0n dividing 2* + 32% + 3z + 1 by x we get remainder :

o Watch Video Solution



https://dl.doubtnut.com/l/_AjDcoUlHqaDN
https://dl.doubtnut.com/l/_oDfW7HkqfQtr
https://dl.doubtnut.com/l/_m41CgnAChpRH
https://dl.doubtnut.com/l/_jqTS21tPArPF
https://dl.doubtnut.com/l/_rhv280fLWjDa

47.0n dividing 23 + 3z + 32 4+ 1 by 2 4+ 7 we get remainder :

° Watch Video Solution

48.0n dividing z* + 32> + 3z + 1 by 5 + 2 we get remainder :

o Watch Video Solution

49, 0n dividing z* — az® + 6z — a by z — a we get remainder :

o Watch Video Solution

50. Check whether 7 + 3z is a factor of 3z° + Tz.

o Watch Video Solution

51. For which of the following polynomials is x + 1is a factor ?


https://dl.doubtnut.com/l/_rhv280fLWjDa
https://dl.doubtnut.com/l/_kZb0RdorOZX1
https://dl.doubtnut.com/l/_GUaaq3zQYJWX
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https://dl.doubtnut.com/l/_5wZtsEJuPGD4

° Watch Video Solution

52. Determine which of the following polynomials has (x + 2) a factor :

x4+:c3—|—a:2+:c—|—1

o Watch Video Solution

53. Determine which of the following polynomials has (x + 3) a factor :

x4—|—3:r;3~|—3a:2+x—|—1

o Watch Video Solution

54. Determine which of the following polynomials has (x + 4) a factor :

-2 — (24+v2)z + 2

o Watch Video Solution



https://dl.doubtnut.com/l/_5wZtsEJuPGD4
https://dl.doubtnut.com/l/_ZAxNoTuuN015
https://dl.doubtnut.com/l/_XA6L3uncDwG7
https://dl.doubtnut.com/l/_qnLo86EHyHd1
https://dl.doubtnut.com/l/_oGJfBtbivObQ

55. Use the Factor Theorem to determine whether g(x) is a factor of
p(x) in each of the following cases:

p(z) =22° + 22 — 22— 1,g(z) =z + 1

o Watch Video Solution

56. Use the Factor Theorem to determine whether g(x) is a factor of
p(x) in each of the following cases:

p(z) =x° + 32> + 3z + 1,g(z) =z +2

o Watch Video Solution

57. Use the Factor Theorem to determine whether g(x) is a factor of
p(x) in each of the following cases:

p(z) =2 —4z* +x +6,9(z) =z — 3

o Watch Video Solution



https://dl.doubtnut.com/l/_oGJfBtbivObQ
https://dl.doubtnut.com/l/_588DWXB3EBmn
https://dl.doubtnut.com/l/_Jr9bcHbXBPJO
https://dl.doubtnut.com/l/_6wktRJyXcZ60

58.Find the value of k, if x — 1 is a factor of p(z) of the following case

p(z) = 2>+ + k.

° Watch Video Solution

59.Find the value of k, if x - 2 is a factor of p(x) in each of the following

cases: p(z) = 2z% + kx + /2

o Watch Video Solution

60. Find the value of k, if x - 3 is a factor of p(x) in each of the following

cases: p(x) = kx? — 2z + 1

o Watch Video Solution

61. Find the value of k, if x - 4 is a factor of p(x) in each of the following

cases: p(x) = kx? — 3z + k



https://dl.doubtnut.com/l/_6wktRJyXcZ60
https://dl.doubtnut.com/l/_COe7dPABjwPT
https://dl.doubtnut.com/l/_EJLLTeZqIFNN
https://dl.doubtnut.com/l/_e2HCbAaNIUR8

| o Watch Video Solution

62. The factors of 1222 — 7z + 1 are:

o Watch Video Solution

63. Factorise : 222 + 7z + 3.

° Watch Video Solution

64. The factors of 622 + 5z — 6 are :

o Watch Video Solution

65. Factorise : 322 — = — 4.

° Watch Video Solution



https://dl.doubtnut.com/l/_e2HCbAaNIUR8
https://dl.doubtnut.com/l/_onl6oWP0K1cq
https://dl.doubtnut.com/l/_aGRWvsFVWAiZ
https://dl.doubtnut.com/l/_owgCtzYOi36O
https://dl.doubtnut.com/l/_tMcgZTKYK8EC

66. The factors of 22 — 222 —  + 2 are:

° Watch Video Solution

67. Factorise : 2° — 322 — 9z — 5.

o Watch Video Solution

68. Factorise : z° + 1322 + 32z + 20.

o Watch Video Solution

69. Factorise : 2y3 + y2 — 2y — L.

° Watch Video Solution



https://dl.doubtnut.com/l/_PcVnRaXbAS55
https://dl.doubtnut.com/l/_N2ujDTusod7o
https://dl.doubtnut.com/l/_hp7LUHeIzqJz
https://dl.doubtnut.com/l/_QKwQiSZ209ws

70. Use the suitable identity to find the following product :

(z + 4)(z + 10).

o Watch Video Solution

71. Use the suitable identity to find the following product :

(z + 8)(z — 10).

o Watch Video Solution

72. Use the suitable identity to find the following product :

(3z + 4)(3z — 5).

o Watch Video Solution



https://dl.doubtnut.com/l/_StR6LU9AMuad
https://dl.doubtnut.com/l/_cozMZz0EGeLs
https://dl.doubtnut.com/l/_72C8rqc1mEJ7

73. Use the suitable identity to find the following product :

F-3)e-3)

o Watch Video Solution

74. Use the suitable identity to find the following product :

(3 —2z)(3 + 2z).

o Watch Video Solution

75. Evaluate the following product without multiplying directly :

103 x 107.

o Watch Video Solution



https://dl.doubtnut.com/l/_P7ZM8QT9XpPD
https://dl.doubtnut.com/l/_5m67e8WiOqsf
https://dl.doubtnut.com/l/_hLus0wfFHGWi

76. Evaluate the following product without multiplying directly :

95 x 96.

o Watch Video Solution

77. Evaluate the following product without multiplying directly :

104 x 96.

o Watch Video Solution

78. Factorise the following using appropriate identities

9z2 + 6zy + y>.

o Watch Video Solution

79. Factorise the following using appropriate identities : 4y? — 4y + 1.
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https://dl.doubtnut.com/l/_GpecknkjZznJ
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80. Factorise the following using appropriate identities : > —

o Watch Video Solution

81. Expand the following using suitable Identities : (x + 2y + 42)2.

° Watch Video Solution

82. Expand the following using suitable Identities : (2 — y + z)2.

o Watch Video Solution

83. Expand the following using suitable Identities : ( — 2z + 3y + 2z)2

o Watch Video Solution



https://dl.doubtnut.com/l/_uNkw3IChc37F
https://dl.doubtnut.com/l/_ToWgsHj8SZiH
https://dl.doubtnut.com/l/_4LnC4vh5M6MF
https://dl.doubtnut.com/l/_J4BfG2XkGPcl
https://dl.doubtnut.com/l/_aZKccYScnbao

84. Expand the following using suitable Identities : (3a — 7b — c)2.

° Watch Video Solution

85. Expand the following using suitable Identities : ( — 2z + 5y — 32)2

o Watch Video Solution

11 ?
86. Expand the following using suitable Identities : [Za — Eb + 1] .

o Watch Video Solution

87. Factorise : 4z + 9y® + 1622 + 12zy — 24yz — 16z2.

o Watch Video Solution



https://dl.doubtnut.com/l/_aZKccYScnbao
https://dl.doubtnut.com/l/_bZjAtX11ccc4
https://dl.doubtnut.com/l/_1rJtQKt7KAnZ
https://dl.doubtnut.com/l/_4PsPmGX96kPx
https://dl.doubtnut.com/l/_SdWs3msSjNbs

88. JIEaUSIAdE dd:- 222 + y2 + 822 — 2¢/2zy + 4/ 2yz — 8z 2

o Watch Video Solution

89. Write the following cube in expanded : (2z + 1)°.

° Watch Video Solution

90. Write the following cube in expanded : (2a — 3b)°.

° Watch Video Solution

3
91. Write the following cube in expanded : lgm + 1] .

° Watch Video Solution



https://dl.doubtnut.com/l/_SdWs3msSjNbs
https://dl.doubtnut.com/l/_jd0IJ43OtIdF
https://dl.doubtnut.com/l/_NlAEJh3Og3G0
https://dl.doubtnut.com/l/_Y6bqX9krYXQM
https://dl.doubtnut.com/l/_52A8ffX65fIW
https://dl.doubtnut.com/l/_7XOu8zdGKYZz
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92. Write the following cube in expanded : lx - gy} .

o Watch Video Solution

93. Evaluate the following using suitable identity : (99)°.

° Watch Video Solution

94, Evaluate the following using suitable identity : (102)°.

° Watch Video Solution

95. Evaluate the following using suitable identity : (998)°.

o Watch Video Solution



https://dl.doubtnut.com/l/_7XOu8zdGKYZz
https://dl.doubtnut.com/l/_SCT0RGBS5Key
https://dl.doubtnut.com/l/_THB6YSofBTeh
https://dl.doubtnut.com/l/_kvUnT6mrO54r

96. Factorise the following : 8a® + b* 4 12a%b + 6ab’.

° Watch Video Solution

97. Factorise each of the following: 8a® — b® — 12a%b + 6ab

° Watch Video Solution

98. Factorise the following : 27 — 125a® — 135a + 225a°.

o Watch Video Solution

99, Factorise the following : 64a® — 276 — 144a%b + 108ab’.

° Watch Video Solution



https://dl.doubtnut.com/l/_lfmJqAWLVOiE
https://dl.doubtnut.com/l/_6n238gL3TXgZ
https://dl.doubtnut.com/l/_XTUThGaNlHnA
https://dl.doubtnut.com/l/_c8gTAn8manvi
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100. Factorise the following : 27p° — 216 Ep + Zp.

° Watch Video Solution

10179 a3 2° + y° = (z + y) (2> — 2y + °)

° Watch Video Solution

102. 779 &3:-2° — y° = (z-y) (2* + zy + ¥°)

o Watch Video Solution

103. Factorise the following : 27y% + 12523,

° Watch Video Solution



https://dl.doubtnut.com/l/_tJLVO6xlXBuM
https://dl.doubtnut.com/l/_u221yqLDpuxv
https://dl.doubtnut.com/l/_HxSo4WgRGudl
https://dl.doubtnut.com/l/_Kgj5uo1zKUay

104. Factorise the following : 64m> — 343n3.

o Watch Video Solution

105. Factorise : 272> + 1y 4 2° — 9zyz.

o Watch Video Solution

106. ag J9:-

1
2yt 42 = dayr = S(ety+2)|(e - )+ (-2’ + (2 - o))

o Watch Video Solution

107.1f z + y + z = 0, show that 3 + 3* + 2% = 3zyz.

o Watch Video Solution



https://dl.doubtnut.com/l/_4DLx77x1NEhy
https://dl.doubtnut.com/l/_WZCEi0zx6Chi
https://dl.doubtnut.com/l/_85do6nvmDz96
https://dl.doubtnut.com/l/_ei1tt9MX0d5C
https://dl.doubtnut.com/l/_MtkE8NQx3nQG

108. Without actually calculating the cubes, find the value of each of

the following: ( — 12)® + (7)° + (5)°

o Watch Video Solution

109. Without actually calculating the cubes, find the value of each of

the following: (28)° + ( — 15)® + ( — 13)°

° Watch Video Solution

110. Give possible expressions for the length and breadth of each of
the following rectangles, in which their areas are given: Area :

25a% — 35a + 12

o Watch Video Solution



https://dl.doubtnut.com/l/_MtkE8NQx3nQG
https://dl.doubtnut.com/l/_jjpRC0hL0djb
https://dl.doubtnut.com/l/_2AuFvAnKWFEM

111. Give possible expressions for the length and breadth of each of the
following rectangles, in which their areas are given: Area

35y° + 13y — 12

o Watch Video Solution

12. What are the possible expressions for the dimensions of the

cuboids whose volumes are given below? Volume : 3z> — 12z

° Watch Video Solution

113. What are the possible expressions for the dimensions of the

cuboids whose volumes are given below? Volume : 12ky? + 8ky— 20k

° Watch Video Solution



https://dl.doubtnut.com/l/_cLWwyeRoYAQa
https://dl.doubtnut.com/l/_nGdEr4g9uUkb
https://dl.doubtnut.com/l/_TBUECxNgQygY

1.Find the degree of the polynomials given below: z° — z* + 3

o Watch Video Solution

2.Find the degree of the polynomials given below: 2 — 3% — % + 23/®

° Watch Video Solution

3. Find the degree of the polynomials given below: 2

o Watch Video Solution

4.Find the value of the following polynomial at the indicated value of

variable : p(z) = 5z? — 3z + Tatz = 1.

o Watch Video Solution



https://dl.doubtnut.com/l/_iYHyA8cyAYCA
https://dl.doubtnut.com/l/_aBFrvQLWHiJc
https://dl.doubtnut.com/l/_Ld57pIJcm8E0
https://dl.doubtnut.com/l/_ZGtwr6ifVlUg
https://dl.doubtnut.com/l/_ATMUYTEardFm

5. Find the value of the following polynomials at the indicated value of

variables: ¢(y) = 3y — 4y + /Il aty=2.

° Watch Video Solution

6. Find the value of the following polynomials at the indicated value of

variables: p(t) = 4t* + 5t — t* + 6 at t =a.

o Watch Video Solution

7. Check whether -2 and 2 are zeroes of the polynomial x + 2.

o Watch Video Solution

8.Find a zero of the polynomial p(x) =2x + 1.

° Watch Video Solution



https://dl.doubtnut.com/l/_ATMUYTEardFm
https://dl.doubtnut.com/l/_XWOK1x722s8o
https://dl.doubtnut.com/l/_4QkwC4KU3mLG
https://dl.doubtnut.com/l/_zdFetu8c5thT

9. Verify whether 2 and 0 are zeroes of the polynomial z? — 2.

° Watch Video Solution

10. Divide p(x) by g(x), where p(z) = x + 3z —land g(x)=1+x

° Watch Video Solution

11. Divide the polynomial 3z* — 42® — 3z — 1byx - 1.

o Watch Video Solution

12. Find the remainder obtained on dividing p(z) = > + 1 by x + 1.

° Watch Video Solution



https://dl.doubtnut.com/l/_zEJ3Hj3DqPqf
https://dl.doubtnut.com/l/_z45lpJok4U2i
https://dl.doubtnut.com/l/_GNpCAbA87VcN
https://dl.doubtnut.com/l/_sDRe7571mvYq

13.Find the remainder when z* + z* — 22% 4+ 2 + 1 is divided by x -1.

o Watch Video Solution

14. Check whether the polynomial ¢(t) = 4t° +4t> —t —1 is a

multiple of 2¢ + 1.

° Watch Video Solution

15. Examine whether x + 2 is a factor of z° + 322 + 5z + 6 and of 2x +

4.

o Watch Video Solution

16. Find the value of k, if x - 1is a factor of 42> + 3z — 4z + k.

o Watch Video Solution



https://dl.doubtnut.com/l/_5lX4sjjNnVpd
https://dl.doubtnut.com/l/_mXge2Gfasp5x
https://dl.doubtnut.com/l/_HsP3H7XC14A8
https://dl.doubtnut.com/l/_P0r9i8GeeTXC

17. Factorise 62> + 17z + 5 by splitting the middle term method.

° Watch Video Solution

18. Factorise y> — 5y + 6 by using the Factor Theorem.

° Watch Video Solution

19. Factorise z° — 23x> + 1422 — 120.

o Watch Video Solution

20. Find the following product using appropriate identities:

(z+3)(z +3)

° Watch Video Solution



https://dl.doubtnut.com/l/_P0r9i8GeeTXC
https://dl.doubtnut.com/l/_DKfP0YYam5RA
https://dl.doubtnut.com/l/_JDUEKWS7d329
https://dl.doubtnut.com/l/_GB3d9y8Ts2yE
https://dl.doubtnut.com/l/_vA43XkNTT2en

21. Find the following product using appropriate

(z — 3)(z +5)

identities:

° Watch Video Solution

22. Evaluate 105 x 106 without multiplying directly.

° Watch Video Solution

23. Factorise: 49a° + 70ab + 25b°

° Watch Video Solution

25, 9
24. Factorise: Ta: — ?

o Watch Video Solution



https://dl.doubtnut.com/l/_ZyuyrXZn4Bmv
https://dl.doubtnut.com/l/_N0R6c6Lp5bfg
https://dl.doubtnut.com/l/_wJVnWh45Fdzc
https://dl.doubtnut.com/l/_6l06kUIGIpce
https://dl.doubtnut.com/l/_Dlq8PPvsGYor

25. Write (3a + 4b + 5¢)” in expanded form.

° Watch Video Solution

26. Expand (4a — 2b — 3c)2 .

o Watch Video Solution

27.Factorise 422 + y* + 2% — dzy — 2yz + 4z 2.

o Watch Video Solution

28. Write the following cube in the expanded form: (3a + 4b)°

o Watch Video Solution

29. Write the following cube in the expanded form: (5p — 3q)3


https://dl.doubtnut.com/l/_Dlq8PPvsGYor
https://dl.doubtnut.com/l/_fHh5lGPTIOtY
https://dl.doubtnut.com/l/_Tav7Hv8PXanE
https://dl.doubtnut.com/l/_DzDldUDpspfQ
https://dl.doubtnut.com/l/_eMfYX3We3k9C

o Watch Video Solution

30. Evaluate the following using suitable identities: (104)°

o Watch Video Solution

31. Evaluate the following using suitable identities: (999)3

° Watch Video Solution

32. Factorise 8z> + y® + 12z%y + 6zy>

o Watch Video Solution

33. Factorise : 8z% + % + 2723 — 18zyz

o Watch Video Solution



https://dl.doubtnut.com/l/_eMfYX3We3k9C
https://dl.doubtnut.com/l/_reOiAqtoqRxu
https://dl.doubtnut.com/l/_B9BnAfrXXI9t
https://dl.doubtnut.com/l/_hvbwIpq9lC6I
https://dl.doubtnut.com/l/_KMnlCf1tHdEm



https://dl.doubtnut.com/l/_KMnlCf1tHdEm

